Money
Adding and subtracting money
Here you will find the White Rose Maths pages linked to money (children- you will be used to just having the right-hand side of the page chopped up for you to complete in your books!) please feel free to complete sections as you wish. On the reasoning and problem-solving pages you will see the questions with the answers alongside, the children are used to having these problems as well. I have left the answers on there so they can either self-check or are there for guidance. 

Here are a couple of websites which will be useful to use alongside the learning this week:

https://www.topmarks.co.uk/Interactive.aspx?cat=25
There are lots of games on here that the children may like to experiment with and play to become familiar with money. 

https://www.bbc.co.uk/bitesize/topics/zp8dmp3
https://www.bbc.co.uk/bitesize/topics/z8yv4wx/resources/3
Clips to watch to help explain aspects of money. The top link is to the KS1 page which may be a good place to start as a reminder for some children. 
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Subtract Money

Reasoning and Problem Solving

Jack has £2 and 90p.
Teddy has three times as much money
as Jack.

How much more money does Teddy
have than Jack?

Rosie has twice as much money as
Teddy.

How much more money does Rosie have
than Jack?

Jack £2 & 90p
Teddy: £8 & 70p
Rosie: £17 & 40p

Teddy has £5 and
80p more than
Jack.

Rosie has £14 and
50p more than
Jack.

Use coins to
support children in
calculating.

Three children are calculating £4 and

20p subtract £1and 50p.

Annie

£4-E1=£2
20p — 50p = 30p
£1+ 30p = £1and 30p
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The difference is £2 and 70p.

Ceandp

Teddy

£4.and 20p — £2 = £2 and 20p

£2 and 20p + 50p = £2 and 70p. ..

Eva

Who is correct? Who is incorrect?
Which method do you prefer?

Annie’s second
step of calculation
isincorrect.
Teddy and Eva
both got the
correct answer
using different
methods. Children
may choose which
method they
prefer or discuss
pros and cons of
each.




image1.png
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Notes and Guidance Varied Fluency

Children add two amounts of money using pictorial . Mo uses a part-whole model to add money.
representations to support them.

£ and__p+E _and__p

They are encouraged to add the pounds first and then add the Thereis £___and 105p.
pence. Children then exchange the pence for pounds to 105p=£___and__p
complete their calculations. Altogether there is £ and p.

Use Mo's method to find the total of:

. £10 and 35 d £4 and 25 £10 and 65 d £9 and 45
Mathematical Talk andospancaand e anabopanaiEenddse

¥ What calculation does the bar model show?
Can you group any of the coins to make a pound? Find the total amount of money.

Can you use estimation to support your calculation?

Why is adding 99p the same as adding £1and taking away 1p?

I Abook costs £5 and 99p.
A magazine costs £1and 75p.
How much do the book and magazine cost altogether?
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Reasoning and Problem Solving

Dora bought these muffins.

eee

Muffins cost 35p each.
How much did Dora spend?

Tommy bought three times as many
muffins as Dora.

How many muffins did Tommy buy?
How much money did Tommy spend on
muffins?

How much more money did Tommy
spend than Dora?

Dora spent 105p
or £1and 5p.

Tommy bought 9
muffins.

He spent 315p or
£3 and 15p.

Tommy spent
210p or £2 and
10p more than
Dora.

Rosie has £5
Has she got enough money to buy a car
and two apples?
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85p 75p

What combinations of items could Rosie
buy with £5?

£3and 35p +
85p+85p=£5
and 5p

She does not have
enough money.

Rosie could buy

1carand 2
balloons

1 car, 1apple and 1
balloon

1 magazine and 2
apples
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Subtract Money

Notes and Guidance Varied Fluency

Children use different methods to subtract money. . Alex has £3 and 50p.

They will see examples where they can physically remove the She gives £2 and 10p to her sister.

coins, and examples where they will need to use their How much money does she have left?

knowledge of converting money to exchange £1 for 100 pence. _ _
Children also use number lines to count on or back to £S-f2=£ _ SOp-l0p=_p
calculate the difference between two amounts. Alexhas € and ___premaining.

I Tommy has £1and 72p. Rosie has £2
How much more money does Rosie have than Tommy?

Mathematical Talk 8p 20p

Can we make 50p in a different way to make it easier to

subtract 10p physically? £1and72p £1and 80p £2
Which number should | place on the number line first?
Could | count backwards on the number line? Rosie has__p more than Tommy.

Does this change the difference?

Do we need to exchange any pounds for pence? . A T-shirt costs £7 and 20p.

In a sale, the T-shirt costs £5 and 40p. '
How much has the cost of the T-shirt been reduced by?




